
الثانوى الأول ) ١(رقماختبارالصف
åÇ@kuc@òîmŁa @òÜ÷-þaZ

Þëþa@Þa û3ÛaZ )  (!"#$%&' !"( )** +,",-&' +()./' 012':
3-'45 )* +6.1* 7)"*8 +"&)1&' +"9)":";&' 7)"*8&'......)+<.=&'–+,':/'–+?)#*&'-+50#&' (
@-)6( A0,1" B1&' +<.=&' !C? D-E &' B&F G1<18 7-%E$ D=H&' B&F I#. B<5 J0KL*&' J$%&' 74': 'MF

I#.&'......)D=H&' B&F 4'4:1–)6&)K* +=(0N 4'4:1–+1()K OP1–Q(0&' O%1 (
R-20 °°C7"E06? S"041 B<5 O()%1 T$":<# S"041 B<5 ... ..)68°°–86°°–393°°–180°° (
U-V"101&' B<5 )*6"1<18 !"*#. B150# !"( +(#E&' !$81 !"( )80&' 4'410' +(0.1 B?5 KgW10 Kg

BX .. ... ....)4,'$&' !* OY –4,'$&' Z$)#1–4,'$&' !* 0(8  (
[-+"#)#N' +"9)":";&' 7'4,$&' !*...... ..)0"(*N'–I$&$8&'–I$N' (

)V (! 7(K' 7#04 )*( )E"=1#*: !," = #$ %&I#0&' Q* !0* 0"\&' I4)-1&' B?.
) !()6150# 7E)8 )*4E5 J0)"#&' O*'0? 7*421#'60 m/s+"-Y)E1 +<.=( 780,1?– 6 m/s2 .V#,  :

3-0$0* 4=( +5$ ]%*&' +?)#*&'5 sec .@ -J0)"#&' DY$1& I:^&' !*:&' .
óãbrÛa @Þa û3ÛaZ )  (B1_" )*& O<5:

3-O:)E*&' B? +*421#*&' J:6.`& +"(068&' J04%&' +?0=* V." .
@-+"0$4 +80, T*a&' O$, b0N' +80, 0(1=1 .
R-J'$E&' O$, GE'0$4 c)EK ^\a !$018&/' OM(" d.
U-Z$1#*&' O"* +"$': !$81 )*4E590°°0,&' ]$% #&' +<*)=* I#.&' ed:E' O*)=".

)V(O$. :)6. B? +1()K&' b0'$=&' +;"P$ )*.
) !(GE:$ I#.20 N+50#( A0,1"12 m/s$,)X0]Y fE J09'4 O2 m+"(M). &' +<.5 0(15'10 m/s2 .

V#,  :3-+":80*&' +<.=&'.@-+":80*&' +(M).&' J$%&'.
@sÛ brÛa @Þa û3ÛaZ )  (+"1g' 7'0)(=<& B*<=&' I$6;*&' V18 :

3-+80,&' +"*8 B? 0"\1<& BE*:&' O4=*&' .
@-J4,'$ +"E;<8 +.04 I#.&' J0'0, +.04 Q?0& +*:^&' J0'0,&' +"*8 .
R-G1<18 I#. B<5 0KL1 B1&' J$%&'1 Kg+<.5 G1(#8 1 m/s2.
U-JM;E1#*&' +"(068&' +Y)]&' +*#Y h0)2÷!*:&' .

)V (! 7(K :'() *+KE =

) !(G1<18 I#.5 Kg+50#( A0,1"4 m/sI#.8 )80 ,1 I4)-1 &' 4=($ !8)# 02j I#. $,E+50#( 4,'$
1 m/sO$N' I#.&' +80,& k).1d' T;E B? .!8)# &' I#.&' +<18 V#, .

)V (!* O8 B? )X0?'$1 V.'$&' ]$0a&' )* :
3-+"(068 J09'4 B? B(068 0)"1 0$0* .@-+*P1E* +<.=( I#. A0,1 .

) !(J4*& A<# B? B(068 0)"1 0*"20G"?0] !"( 46.&' e0? !)8 'MC? +%"Y43 v+Y)]&' 0'4%* V#,_? W
A<#&' B? JM;E1#*&' +"(068&'.

@Þa û3ÛaÉia‹ ÛaZ )  (!* O8( 4$-%*&' )*:
3-c)*<& 4"=-1<& +E*)8&' J0'0,&' =227× 104 J/ Kg@-)* I#. +,':F =80 m
R-O-$* +*$)%* =5 ΩU-I#.& +"<2'4&' +Y)]&' .

)V()61<18 !2) #&' c)*&' !* +"*8 ]<2 I10.4 KgB?100 °°C)61<18 40)(&' c)*&' !* +"*8 Q*0.6 KgB?
20 °°C .]"<2&' +.04 V#, .

) ! (+"&)1&' +"E)"(&' 7)Y ^=<& I"%1#*&' ]2&' O"* Z$)#1 B1&' +"9)":";&' +"* 8&' V18' :

@Þa û3Ûa=ßb©aZ)!"%9);&' +(<]<& f)2(
 )  (!* O8 7)*'421#' 08M' :3-B(068&' DK8*&' .@-7)1#$*0K&'.
)V (+"&)1&' 7'0)(=<& l)"*<5 l'0"#;1 08M' :

3-)X0"# c)EK 7'0)"#&' !"( +"?)8 +<-)? +?)#* A01 V." .
@-BE4=* m]# B<5 !"=* n);10' !* 7]%# 'MF +H"(&' Ia611–

Ia611 d +"9'$X J4)#$ B<5 7]%# 'MF )*E"(.
) !(O()%*&' O8a&' B? :!'01* $*01A , B .B<5 J0'0,&' +.04 BX )*

01*$*01&'A01* $*01&' B<5 J0'0,&' O()%1 B1&'B)X0'4%*60°° .


